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Disinfectant action of sunlight is due to :

(a) UV Rays (b) Infrared Rays (c) Heating effect (d) None of these
Which of the following is the standard for biomedical waste disposal ?

(a) Agmark (b) FSSAI (c) BIS (d) NIKSHAY
Stomach poison amongst insecticides is :

(a) Paris green (b) Pyrethrum (¢) Lindane (d) Chlorthione

Horrock’s apparatus is used for estimating
(a) Free chlorine (b) Combined chlorine(c) (a)and (b) both  (d) Chlorine demand

Which of the following bacteria is not seen in faecal contamination ?

(a) Staphylococcus (b) Streptococcus

(c) E.Coli (d) Clostridium perfringence

Waste water from kitchen is known as :

(a) Refuse (b) Sullage (c) Garbage (d) Sewage

Which of the following method is used for the removal of fluoride from drinking water ?
(a) Bangalore method (b) Indore method

(c) Mangalore method (d) Nalgonda method

Which of the following is the major reason for ‘Algal Bloom’ ?
(a) Presence of heavy metals in water

(b) Contamination of pathogens in water

(c) Eutrophication

(d) Soil erosion

In soft water, concentration of CaCO5 is
(a) zero (b) 30-60 mg/litre (c) 61-90 mg/litre (d) 91-120 mg/litre

Which of the following techniques is used to determine the concentration of odour
compounds in the given water sample ?

(a) Settling (b) Flushing (c) Stripping process (d) Chlorination
The surface of filter in the Katadyn filter is coated with which of the following catalyst ?
(a) Potassium permanganate (b) Silver

(c) Halogen (d) Nitrite

Permanent hardness of water is caused by of calcium and magnesium.

(a) Carbonate and bicarbonate (b) Bicarbonate and nitrate

(c) Carbonate and nitrate (d) Chloride and sulphate

What is measured by the Nephelometer in the polluted water ?

(a) Colour (b) Odour

(c) Suspended particles (d) Gases

Relative humidity is determined by :

(a) Kata thermometer (b) Anemometer

(c) Sling psychrometer (d) Guard band apparatus

Following are indicators for measuring air pollution except :

(a) Soiling index (b) Mc Ardle’s index

(c) Suspended particle count (d) SO, concentration
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16. Which of the following is not a source of Indoor Air Pollution ?

(a) Carbon monoxide (b) Nitrogen dioxide
(c) Radon (d) Mercury vapour
17. Simultaneous warming of one part of the world and the cooling of another is called as :
(a) Green House effect (b) Differential Green House effect
(c) Earth warming (d) Ocean warming
18. Air borne particulate matter consists of both solids and liquid particles, their size ranges
from :
(a) 0.01 micron to 20 microns (b) 0.1 micron to 10 microns
(¢) 0.001 micron to 1 micron (d) 1 micron to 10 microns

19. Which radiations are absorbed by carbon dioxide ?
(a) X-ray radiations (b) Ultra violet radiations
(c) Infrared radiations (d) Visible spectrum

20. The bio-amplification of mercury in organisms is by mobilization and accumulation of it at
higher levels in food webs is mediated by

(a) Planktons (b) Beetles (c) Viruses (d) Bacteria

21. Read the following statements carefully and choose the correct answer :
1. Primary pollutants are those that are emitted directly from source.
2. Secondary pollutants are those that are permanently present in the atmosphere.
(a) Statement 1 is correct only. (b) Statements 1 and 2 are correct.
(c) Statement 2 is correct only. (d) None is correct

22.  Where was photochemical smog first observed ?

(a) San Francisco (b) Los Angeles (¢) London (d) Paris
23.  Which of the following gases has the maximum Global Warming Potential (GWP) ?
(a) Methane (b) Carbon monoxide
(c) Carbon dioxide (d) Nitrous oxide
24. Whispering produces a sound of
(a) 20-30dB (b) 40-50dB (c) 50-60 dB (d) 60-70 dB
25. unit is used to measure the frequency of sound.
(a) Pascal (b) Watt (c) Hertz (d) Decibel
26. Maximum noise limits (dB) in residential area during day time is :
(a) 55 decibel (b) 40 decibel (c) 60 decibel (d) 70 decibel
27. A 30 dB increase in noise pollution level represents :
(a) 30 fold increase in sound intensity (b) 100 fold increase in sound intensity
(c) 15 fold increase in sound intensity (d) 1000 fold increase in sound intensity

28. ‘Green Mulffler’ is related to :
(a) Soil pollution (b) Air pollution (c) Noise pollution  (d) Water pollution
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What is the primary purpose of maintaining sanitation at fairs and festivals ?
(a) To increase ticket sale.

(b) To promote healthy and safe environment.

(c) To generate revenue for the event.

(d) To showcase cultural diversity.

If proper sanitation is not maintained during fairs and festivals the chances of the following
disease are more :

(a) Cancer (b) Cholera (¢) Pneumonia (d) Dropsy
The effective temperature of ‘comfort zone’ is :

(a) 69-76 °F (b) 77-80 °F (c) 81-85°F (d) 86-90 °F
Which Indian city has continuous & uninterrupted water supply ?

(a) Delhi (b) Kota (¢) Guwahati (d) Puri

Which of the following is not a criterion for ‘healthy housing’ ?
(a) It provides physical protection and shelter.

(b) It provides adequate space for cooking and eating.

(c) It provides adequate space for excretory functioning.

(d) It does not provide protection from hazards of noise pollution.

What are the proportions of protein and calories in mid-day meal ?
(a) 1/2 protein and 1/2 calories (b) 1/2 protein and 1/4 calories
(c) 1/2 protein and 1/3 calories (d) 2/3 protein and 1/3 calories

What is the recommended frequency for regular dental checkup and cleaning for most
adults ?

(a) Every six months (b) Every two years

(c) Every five years (d) Every month

The toilet shared between a group of households in a single building or plot is known as :
(a) Community toilet (b) Personal toilet

(c) Shared toilet (d) Western toilet

Which of the following disease is not associated with smoking ?

(a) Diphtheria (b) Cancer of lungs (c) Bronchitis (d) Cancer of mouth
Which of the following is the most sensitive indicator of environmental iodine deficiency ?
(a) Serum Tj levels (b) Serum T, levels

(c) Neonatal hypothyroidism (d) Urine lodine excretion

Females need more due to blood loss during menstruation.

(a) Calcium (b) Tron (¢) Sodium (d) Zinc

Which of the following toxins is responsible for epidemic dropsy ?

(a) Ergottoxins (b) Sanguinarine (c) BOAA (d) Aflatoxins

Which ancient civilization is known for using a method of preservation involving
mummification ?

(a) Greek (b) Roman (c) Egyptian (d) Chinese

What are the health hazards associated with unsanitary disposal of dead body ?

(a) Increase risk of disease transmission  (b) Occurrence of cancer

(c) Hypocalcemia among population (d) Increase risk of diabetes
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43. Which of the following methods is associated with cremation ?
(a) Immersing the body in a preserving solution.
(b) Placing the body in a sealed bag.
(c) Reducing the body to ashes through high temperature combustion.
(d) Submerging the body in a preservation tank.

44. Following diseases are transmitted through contaminated water with faecal origin except

(a) Hepatitis A (b) Hepatitis C (c) Hepatitis E (d) Typhoid
45. Minimum floor area of a living room for a single person should be

(a) 50 square feet to 70 square feet (b) 70 square feet to 90 square feet

(c) 90 square feet to 100 square feet (d) 100 square feet to 110 square feet
46. Kala-Azar has been declared as notifiable disease in the state of

(a) Punjab (b) Uttar Pradesh (c) Bihar (d) Madhya Pradesh
47. Which of the following is an indirect method of disease transmission ?

(a) Direct contact or touching (b) Droplets of saliva

(c) Contact with soil (d) Using other person’s towel

48. Occurrence of disease in haphazard and irregular pattern is known as

(a) Endemic (b) Epidemic (c) Sporadic (d) Pandemic
49. In the National Immunization Schedule, measles vaccine is given at the age of —

(a) Birth (b) 6 months (¢) 9 months (d) 5 years
50. Total number of serotypes of dengue virus is :

(@) 1 (b) 2 (c) 3 (d) 4
51. Last case of polio in the country was reported in year

(a) 2009 (b) 2010 (c) 2011 (d) 2014
52. For production of BCG vaccine, BCG laboratory at Chennai is using strain

(a) 1133 (b) 1113 (c) 1331 (d) 1311
53. Koplik’s spots are found in the disease

(a) Measles (b) Chicken-pox (¢) Monkey-pox (d) German Measles
54. Ty 21avaccine is given to prevent which disease ?

(a) Measles (b) Rotavirus diarrhoea

(c) Typhoid (d) Diphtheria
55. Aedes aegypti index should not be more than in towns.

(a) 1 (b) 2 (c) 5 (d) 10

56. Aldehyde test of Napier has been used for the diagnosis of :
(a) Malaria

(b) Dengue (c) Filaria (d) Leishmaniasis
gg;ies-A | 8 | SIN-1I




43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

fraferfiaa @ @ % = fafar ceerr @ g=fRa ® 2

(a) 319 ! fohelt TR Oic § gamT |

(b) I ! Teh Heta< I H TG |

(¢) 3= AU dTct €& o HTeH | 16 bl TG § SeeT |

(d) 319 %! TXET ¢k | gEMT |

Tk Stfafer fFrafoifaa avft T wet e @ gftd S1at & wem @ e 8

(a) BURERAA  (b) ruREkd C (c) BRIl E (d) TEwIEE
Fohet safer o ToTT & Aol st (Fetfet &) o &3l o1 Shel HH 9 7 341 211 =T

(a) 50 <THIC T 70 SHHIE (b) 70 HIE B 90 TThIE

(c) 90 e & 100 SFTHIE (d) 100 STHE | 110 TThE

3G TS T HIeAT-ATAR i AT ARl =iya fham w2

(a) USTE (b) IT IS (c) forEw (d) TEIICH

Frafaiaa o @ 1 o1 T T o1 Ueh AT WIS 8 7

(a) e Eueh 91 9t (b) AR

(c) Tiredt = T gush (d) 3= =fed o1 AT ITINT HEAT

fertlt T o1 STeaaferd v 1fRIGE Ted § 8T Shadmd & ¢

(a) T=hreh ORUESEES (c) wARfeH (d) wsfies

ST ShTohto ST A @H 1 ST 39 3T H fean S | -

(a) 94 (b) ®: HTE (c) 1 wE (d) o= o

%«T‘]\W%{S%Iﬂ'ﬁ?@iﬁméz

(a) 1 (b) 2 (c) 3 (d) 4

G Y | NIt w1 371 HHeT <2 | 9™ 7907

(a) 2009 (b) 2010 (c) 2011 (d) 2014

I3 1 of. = Sf. Jefia & It & fore &t di S e sSE R TR R @ R

(a) 1133 (b) 1113 (c) 1331 (d) 1311

Hiufetsh Tied (o) 39 UTH I A &

(a) @EQ (b) Tahuted (c) T=hdiea (d) SHT e

forg T =1 Tkl o feTe &1 g 21 TaRiA 9Tt 2 7

(a) @ET (b) UTTATEH SANAT  (¢) TABIES (d) feuefifan
. WU U T e e H ATk &1 g =ATie |

(a) 1 (b) 2 () 5 () 10

3G T 1 U1 ohid o foTT AR o1 Ufcearss ¢ fepan Siran 2

(a) it ®) 1 (¢) ereciten (@) Fre-3m




57.

58.

59.

60.

61.

62.

63.

64.

6S.

66.

Match List ‘A’ with List ‘B’.
‘A ‘B’

1 Syphilis (1) K. grannulomatis

2 Gonorrhoea (1))  H. ducreyi

3 Chancroid (iii))  N. gonorrhoeae

4  Donovanosis (iv) T. Pallidum
(a) 1-(iv) 2-(1) 3-(ii) 4-(iii)
(b) 1-Gii) 2-(1) 3-(iv) 4-(ii)
() 1-(iv) 2-(i1) 3-(ii) 4-(1)
(d) 1-(i) 2-(Gii)) 3-(iv) 4-()
Which of the following statements is incorrect ?
(a) Malaria is a vector borne disease.
(b) Plasmodium is a protozoa.
(c) Malaria spread by the bite of male anopheles mosquito.
(d) Malaria spread by the bite of female anopheles mosquito.

The most common cancer worldwide affecting both male and female

(a) Cancer of Pancreas (b) Buccal mucosa cancer

(c¢) Lung cancer (d) Colorectal cancer

The type of Ultraviolet Radiation (UV) that is known to induce skin cancer is :

(a) Ultraviolet Radiation — E (b) Ultraviolet Radiation — B

(c) Ultraviolet Radiation — C (d) Ultraviolet Radiation — D

Which one of the following is not the measure of primary prevention of hypertension ?
(a) Weight reduction (b) Exercise promotion

(c) Reduction of salt intake (d) Early diagnosis of hypertension

What is the definition of blindness under National Programme for Control of Blindness and
Visual Impairment (NPCBVI) ?

(a) 3/60 (b) 6/60 (c) 3/18 (d) 6/18

Which amongst the following will be considered as the most important factor of diabetes
mellitus ?

(a) Residence (b) Male Gender

(c) Gestational diabetes in mother (d) Presence of HLA-DR3

Which Index of obesity does not include height ?

(a) BMI (b) Ponderal index  (c¢) Broca’s index (d) Corpulence index

How many stages are there in demographic cycle ?
(a) 3 (b) 2 (c) 5 (d) 6

Vital statistics in a population is depicted by which one of the following ?
(a) Sex ratio (b) Birth rate (c) Age composition (d) Dependency ratio
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fore A = fore B’ @ fiyersT |
A’ B’
1 fawfoa (i) . IAAERH
2 TifeEn (i) e THEE
3 S (iii) 3. A
4 SFEEfEE  (v) A dfren
(a) 1-(v) 2-(G) 3-(i)) 4~(iii)
(b) 1-(ii)) 2-(G) 3-(iv) 4-(ii)
(©) 1-(iv) 2-(Gi)) 3-(Gi) 4-(i)
(d) 1-Gi) 2-Gii) 3-(iv) 4-(i)
freffaad a e m e e 7 2 7
(a) HATT Teh et STTA AT R |
(b) TATTHITSIH Th TSNS R |
(c) HATET T TATHATS HoX o hied § Hhetal & |
(d) HATET TTET TATHATS H=a o hie A HerdT § |
i R gt 3R AfEesT gl ol THTTSd i STel Fed 3TTH R R
(a) ST T HEX (b) @ RIHIET I HHT (c) HHS BT hEX (d) AT HE
TS ffehtor (UV) &1 98 TohR ST o= her 3eq=T i o Tl ST ST 8

(a) ST fafeRtor — B (b) TS fafehtor — B
(c) wraTHY fafertor — (d) wrsi fafeptor — D
frferiad o & 1 |1 3= WaaTy ) e Twym™ 13U T8 8 7
(a) I TTHT (b) =™ HaLT
(c) T HT YT HH HLAT (d) 3= TRTET 61 30 frgH
YR ey v i i s (T3 i € ot <t 311E) & sidia siue i a2 7
(a) 3/60 (b) 6/60 (c) 3/18 (d) 6/18
fmferfga # & ford myie Tfiet 3 forw ae@ agcayet Sreh wm sam 7
(a) Fem (b) & fefm
(c) df § mishrela AyAE (d) HLA-DR3 = 3ufefa
HieTd o fohe Farenieh § SaiTs IileT T 2 7
(a) SIS W FYIHH (b) IS YTHH
(c) ST HEHTH (d) P FRTH

. SHEIETR sk | fehdd ST B @ 7
(@ 3 (b) 2 (©) 5 (d 6

. foreht e o mgeayul wifersh! ol frefefad 3 & for wsh g ot srar @ ¢

(a) fmagem (b)) SR (c) I T (d) fviear srguma

SINI : o ey



67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

Which parameter is taken into account in calculating literacy rate ?
(a) Schooling upto 10" class (b) Age above 7 years
(c) Whole population (d) Schooling upto 15 years

India is in which stage of demographic cycle ?
(a) Late expanding (b) Early expanding (c) High expanding (d) Low expanding

Best representation of population with age variation is done by

(a) Life table (b) Correlation coefficient

(c) Population pyramid (d) Bar chart

The most common cause of maternal mortality in India is :

(a) Anaemia (b) Hemorrhage (c) Abortion (d) Obstructal labour
According to Plastic Waste Management Rule (Amendment 2021) the carry bags made up
of plastic should not be less than in thickness after December 31, 2022.

(a) 30 micron (b) 50 micron (¢) 90 micron (d) 120 micron

As per Environment Protection Rules, 1999 the permitted noise level generated by fire-
crackers is :

(a) 125dB (b) 120 dB (c) 100 dB (d) 70 dB

According to Solid Waste Management Rules, 2016 the post closure care of land-fill site
should be conducted for at least years.

(a) 5 (b) 10 (c) 15 (d) 20

According to the Medical Termination of Pregnancy (MTP) Act, 1971 medical termination
of pregnancy is considered safe upto  weeks of pregnancy.

(a) 4 (b) 8 (c) 10 (d) 12

According to the Factories Act, 1948 the space for every worker employed in the factory
shouldbe ~ cubic meters after the commencement of this Act.

(a) 4.2 (b) 6.3 (c) 8.7 (d) 14.2

According to the Immoral Traffic (Prevention) Act, 1956, child means a person who has not
completed the age of years.

(a) 8 (b) 12 (c) 16 (d) 18

According to the Food Safety and Standards Act, 2006, any material which is or could be
used for making the food unsafe or sub-standard is known as .

(a) Adulterant (b) Contaminant (¢) Food additive (d) Secondary food

The Central Pollution Control Board (CPCB) was established under which Section of the
Water (Prevention and Control of Pollution) Act, 1974 ?

(a) Section 3 (b) Section 18 (c) Section 25 (d) Section 57

Section 39 of the Air (Prevention and Control of Pollution) Act, 1981 provide
(a) Powers to declare air pollution control areas

(b) Powers to entry and inspection

(c) Penalty for contravention of certain provisions of this Act

(d) Dissolution of State Board

Series-A 12 SIN-II



67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

T ¢ <hl T | ford THie sl eI H W@ ST 8 7

(a) 103 e qeh Shetl fren (b) 31 7 9% & Aferes

(c) I T (d) 15 = 7k el frea

TRA ST =5k o fpH SR HA g ?

(a) Toerfrem faar (b) e foam (c) = fa=r (d) fm= far

31 T < T e 1 Farad Sfdtiere fhes gra fpam it g 2

(a) A dIfeThT  (b) TEESHU NS (c) SHEEN fUfag  (d) IRER

WRA | HI] §cg 1 o8l 3TH HRUT R R 7

(a) Tord 31T (b) TR (c) T (d) wfaafea gaa

31 feER, 2022 % FTE WA STURTE JagH FHIW (H9eT 2021) % T80 Wi s hi 3T
Arers T &Y T8 g =1 |

(a) 30 TTSHIA (b) 50 TTSHH (c) 90 HTZshHIA (d) 120 9TSHIA
TSR] HREFUT R (1999) % STER, U Hie i Tfhd AN &R & :

(a) 125dB (b) 120 dB (¢) 100 dB (d) 70 dB

39 ITURTE yeEe g, 2016 % IFER, et Tsfhal @15c &% s 8H & &1g %A ¥ A
T qeh @I i =T |

(a) 5 (b) 10 () 15 (d) 20

Totaeen 1 fafehcef gama (wr.dd.) srfafrem, 1971 % sgar mufawen o1 fafea

efura, e % THTE Toh GL&Td M1 S 2 |

(a) 4 (b) 8 ) 10 ) 12

HREHT JATRM, 1948 & IFHER, 39 AAT=H % I T & 91g ¥ HREH H HRAG TIh

Hftfes o oI Tore gHieX g1 TR |

(a) 42 (b) 6.3 (c) 8.7 (d) 142

F1fcre SR (Teherme) A=, 1956 % IR, s= 1 379 98 =Afea 7 fSreq EL

I T [T H E |

(a) 8 (b) 12 (c) 16 (d) 18

W T 37 A Afafrm, 2006 & FER, 18 ot arf 7 @re gerert s sreiea = afea

T % ToTT 39T 1 STt 8 =1 <hY S Hehell B, 39 FHET AR |

(a) Suftrso (b) HGTH (c) T Ao (d) Teefreres e

5 TG -0 S1E (CPCB) i T&TOHT o7 (SIGHUT o1 ek STR forzaron) saferfrem, 1974
H fohd U H TRA B TER 7

(a) 93 (b) €T 18 (c) &mI25 (d) &m0 57

a1 (STguT ekerr 3 foreimon) srfufem, 1981 <t am 39 TEH Tl € |

(a) aTY TGy FrrmrT & ey i o wafed

(b) e 3R et s i wfer

(c) 38 ATUTIH o HB TELIHI o et o ot €8
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According to the Prevention of Food Adulteration Act, 1954, which of the following is an
example of “Primary Food” ?
(a) Produce of agriculture in natural form (b) Packaged water bottle

(c) Cooked rice (d) Soft drinks

Maternity benefit allowed under the ESI Act are :

(a) 7/12 of daily wages (b) Half wages

(c) Quarter wages (d) Full wages

Byssinosis occurs due to inhalation of .

(a) Silica (b) Cotton fibre (¢) Sugarcane dust (d) Coal dust
The Constitution prohibits employment of children in factories below which age ?
(a) 12 years (b) 14 years (c) 16 years (d) 18 years

Silicosis, an occupational disease that is significant contributor to permanent disability and
mortality is primarily caused by

(a) Inhaling dust containing silica or silicon

(b) Inhaling cotton fibre dust

(c) Inhaling sugarcane dust

(d) Radiations

Ergonomics deals with
(a) People’s efficiency at workplace (b) Risk assessment at workplace
(c) Sanitation at workplace (d) Air quality at workplace

Chairman of the Employees State Insurance (ESI) Scheme is :
(a) Union Minister of Health & Family Welfare

(b) Union Minister of Social Justice & Empowerment

(c¢) Union Minister of Labour

(d) Secretary, Ministry of Health

Micropolyspora faeni is the main cause of :

(a) Bagassosis (b) Byssinosis (c) Farmer’s Lung  (d) Anthracosis

Vaccination is which level of prevention ?

(a) Primary prevention (b) Secondary prevention

(c) Tertiary prevention (d) Primordial prevention

Which of the following statement is not true about didactic method ?

(a) Knowledge imposed (b) No feedback

(c) Active learning (d) Does not influence human behaviour

Which of the following is not a cultural barrier of communication ?

(a) Illiteracy (b) Noise (c) Attitude (d) Knowledge

Which of the following is not a principle of Health Education ?

(a) Acculturation (b) Credibility (c) Interest (d) Participation

For effective group discussion the group should comprise not less than 6 and not more than
persons.

(a) 16 (b) 9 () 12 @) 15
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W 3t e siffrm, 1954 3 FFEr, Fefelad 3§ & 9 o Tt Yo’ i S ?

(a) TV I 3T AThideh €9 H (b) ¥ <Y 7T I Y A

(c) TN ET IEA (d) 3faet o=

% TH 3713 SATTEH o Tad AIJed AT o 3T=ITa i ITgafd 2 |

(a) fek mrorg 1 7/12 (b) el Hgh

(c) <hers wegh (d) T woredt

TR ferHeh 370308 % HRU Bl & ?

(a) Taferent (b) =HUTE T M (c) T i g (d) SR 6 g
Hfaea fhH 30 T 1 & T=1 Bl HREHT H HH HH T Teh AT 7

(a) 1299 (b) 1499 (c) 16ad (d) 1899

fafcrenifed, T sHaETies S 7, S Tl fosharTar 3R 90 1 JH@ SR g, 91 THE
%T(EB%:

(a) Tofcrent = fafcTenia i 4e1 # 19 o o BRI

(b) HUTH W HT 4T § [ T

OREEIRGRRELT]

(d) Taferzo

W frad grafa 8 7

(a) HTIEIS Y AN hl HIIRTHAT (b) HRIErE W ARaH Yeishd
(c) HREIA W ==l (d) R W 9TY ! TurE

THeATss T SAR (3.UH.3TS. ) AT <1 <3 BT 2 -
(a) Hrld TETE Td URGR shemor T (b) T T =T T SAfrepriat weft

(c) s o T (d) Tfaa, @R T
HISSh T TEIIT HIHT HehT J&T R0 § :
(a) STTETTGE (b) ST (c) IHE T (d) TTHIE

SIeRTehTuT UhATH 1 shi AT &R 2 7
(a) TUfHeh Ushe™ (b) fgdiae Them (c) qaFeh U™ (d) HifoTeh Ushy™

frfaftga 9 9 9 91 wea Iuess At s R A g 18 @ 2

(a) S 49T B3 (b) 1 Slfsh &1

(c) WAl 31eq (d) U SFER ! YATfad T&i il
fferfaa o @ oo SR 31 Sipiae ST TRl | 7

(a) Af3aT (b) & (W) (c) T&=T (d) I

. Tr=ferftaa o @ o @ foen w1 faga @i g ¢

(a) HERI-FFHA (b) foreaeHia (c) ®fa (d) TR

. STl Eg == o ford Ovg W 6 9 W 6 Td 3T 9 31l e M g =M1 |

(a) 16 (b) 9 () 12 @) 15
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Which of the following is not a method of mass approach in Health Education ?
(a) Television (b) Role Play (c) Health Museum (d) Internet

Which of the following is not a method used in group approach in Health Education ?
(a) Lectures (b) Panel discussion (¢) Symposium (d) Personal contact

Which of the following compounds is used as larvicide in mosquito control ?

(a) Mineral oil (b) DDT (c) Pyrethrum (d) Lindane
The number of holes in one square inch of mosquito net is generally

(a) 50 (b) 100 (c) 150 (d) 200

Under the World Health Organisation’s International Health Regulations (IHR), all
international airports and sea ports are kept free from all types of mosquitos for a
distance of :

(a) 100 meters (b) 400 meters (c) 500 meters (d) 1000 meters
Which one of the following is not behavioural development ?

(a) Motor development (b) Sensory development

(c) Adaptive development (d) Language development

A person may get the infestation if he walk bare feet :

(a) Fasciolosis (b) Pinworm (¢) Hook worm (d) Tape worm
The main principle of public participation is .

(a) Openness and adaptability (b) Enhancing employability

(c) Poverty eradication (d) Enhancing subsidy

Exposure with sun light increases utilization ability of which vitamin ?

(a) Vitamin D (b) Vitamin A (c) Vitamin B, (d) Vitamin C
The Chipko Movement had a focus to protect :

(a) Forests (b) Grasslands (c) Deserts (d) Wetlands
What does ‘E’ stand for in ABCDE method of first aid ?

(a) Exposure (b) Expression (c) Experience (d) Examination

Which one of the following is not the characteristic of Ideal dressing (wound) ?
(a) Should keep the wound moist.

(b) Should limit bacterial overgrowth.

(c) Keep odour to a minimum.

(d) Dressing should be extremely tight around the wound.

Which one of the following is not the type of disinfection ?
(a) Concurrent disinfection (b) Recurrent disinfection
(¢) Terminal disinfection (d) Pre-current disinfection

Golden period for treatment of open wound is
(a) 10 hours (b) 6 hours (c) 12 hours (d) 24 hours

Which is the first and the most important measure in the management of severely injured
patient ?

(a) To maintain airway (b) Arrest Bleeding

(c) Start IV fluids
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frfrtaa # & 1 i T e 1 59 givs i fafa 38 8 2

(a) ofifersm (b) T (c) WA TR (d) e
frferRaa o @ s =t wamee e & aqg gfyspron § 3= i i areft fafa 7€ 2 2
(a) AT ORESEEI (c) Gt (d) SafeaTa Tk
Frfeftga @ S o1 wrevs uered sk e § A igrss o di W Y= S At g ?
(a) @i aat (b) S (c) UTRRYH OREES]
Teeier § GIHT=Id: T ol 5 1 fesgl < e fra i 2 7

(a) 50 (b) 100 (c) 150 (d) 200

Torva Tamee wa o STRITH T frmi o SER, avt srigh gaTs 318l 3R SeuTal i
el § 3at gt e W T I & -

(a) 100 HeX (b) 400 HiX (c) 500 HeX (d) 1000 HteX
Frafefaga o @ w9 o1 e fra =i g 2

(a) WX fasm  (b) TEwEid fosbrE® (¢) et fas (d) T foreprd
Teh Sfad | 7 W Il | I8 TehHUT &l Hohall &

(a) B (b) Tmad (c) ghau (d) 2aad

S e 1 g fagia 2

(a) GAUA TF STgheeierd (b) TSR F&HT

(c) TRIeft 3ge (d) B serl

T3 <1 Tentol fonm ferarfir <t Suaiin erman o1 wgr el & 7

(a) fefim D (b) faerfim A (c) faerfim B, (d) faerfim C
Faden! 311G o1 S99 TepwrenT TReToT o7 ?

(a) = (b) smrE  (c) i (d) 3
wrerfires fafercar M Tt € S fafor & < s sfi@ st 2 2

(2) Ger g (b) arfreafa (c) 3TI¥a (d) Wt

frferfaa = @ i | 31est e giem i fomwar & 2

(a) ©Te I TH TGAT 1T |

(b) SR i TG I EHifa HET =T |

(c) T4 ! =TaH G |

(d) =ma 61 SR Ari 3R ¥ rcferes et g =R |

Freaferfa & & 1 a1 SR ST THRIE 8 ?

(a) THA hIeToATH (b) 3TeIdT ShICTUHTSA
(c) 3TAEA HIVHETIH GV GERIETCNCING

. Gl 919 % U= < foTe w@ftie el A a1 e Sar g 7

(a) 10€% (b) 6€WR (c) 129w (d) 24902

. TR 'Y @ Trre Wit & Fafehaashi yeem 8 gduyy Ud el HEcdqul heH hiM AT ?

(a) TE T % U AT R TR @A (b) AETd I Teh]
(c) T oRHE (IV) el were &1

SIN-II 17  Series-A



108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

In an emergency which of the following blood groups can be transfused without cross-
matching ?

(a) B Positive (b) AB Positive (c) O Positive (d) O Negative
Mid-day meal scheme was launched on

(a) 15 August, 1995 (b) 05 September, 1990

(c) 02 November, 1998 (d) 08 December, 1999

Which of the following is not related to dimensions of health ?

(a) Physical dimensions (b) Mental dimensions

(c) Primary dimensions (d) Social dimensions

The aim of ‘Mission Indradhanush’ launched by Ministry of Health and Family Welfare is
(a) Fully immunize 90% of children, who are either unvaccinated or partially vaccinated.
(b) Fully immunize 80% of children, who are either unvaccinated or partially vaccinated.
(c) Fully immunize 70% of children, who are either unvaccinated or partially vaccinated.
(d) Fully immunize 50% of children, who are either unvaccinated or partially vaccinated.

Which parameter is not required in calculation of infant mortality rate ?

(a) Early neonatal death (b) Still birth

(c) Late neonatal death (d) Post natal death
Primary health care was first proposed by which committee ?

(a) Chaddha Committee (b) Bhore Committee

(c) Mukherjee Committee (d) Shrivastav Committee
Ottawa Charter 1986 is related to

(a) Reproductive health (b) Health promotion

(c) Primary health care (d) Population development
Which one of the following is not the principle component of avalanches ?
(a) Beginning zone (b) Avalanche track

(c) End zone (d) Runout zone

Sentinel surveillance is used to

(a) Know the total number of affected people.
(b) Know the hidden cases in the community.
(c) Compare the incidence.

(d) Measure incidence and prevalence.

Which of the following is not a principle of primary healthcare ?
(a) Community participation (b) Appropriate technology
(c) Intersectoral coordination (d) Provision of essential drugs

The Kayakalp scheme is aimed at :

(a) Providing physical aids and devices to senior citizens.

(b) Delivering government sponsored health insurance in India.
(c) Initiating a clean hospital program.

(d) Establishing an integrated health information system.

The International Agency providing assistance in the National Program for Control of
Blindness in India is

(a) SIDA (b) DANIDA (¢) Ford Foundation (d) CARE
In Hilly areas, a health subcentre is recommended for a population of
(a) 1000 (b) 3000 (c) 5000 (d) 20000
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JmaTcehTer fefer & feforfaa 8 @ s 1t Tg fomT shid (Cross) et % <@ St wehdr & 7
(a) <t ursfifea OREIRIEIEE] (c) 3T uishifes (d) 3 mfea

HEATE WIS ST S & g8 off |

(a) 1537, 1995 (b) 05 faam®, 1990 (c) 02 7ew=R’, 1998  (d) 08 fewmar, 1999
frrferiga § & 61 o1 Ty % Sl @ g T8 g 7

(a) Wifoes M (b) AR M (c) TG ™MW (d) HHEINSG TR
TATEL] Td IRER he 10T HaTerd gRT I fohT T e S5y 1323 2

(a) 37 90% S=Al ol T g TTcierd AT, TRt TIehTentvl Tal 31T & AT 3T €T H ZIT 2 |
(b) 37 80% S=AT ol T TG TTci&Ad heAT, FFThT CIohTentvl Tal 31T & AT JTRIh €T HZIT 2 |
(c) 3 70% S=A1 %! T TG TicRierd AT, TTent SrenTehtvr T&l g7 8 1 ST1eh €9 Y g7 ¢ |
(d) 3 50% ST ol T TG TTierd AT, FFTehT TIehTentvl Tal 311 & AT 3T T H 2 |

1] g o Y o § e Arefiet <Y sravEeheT TET R 2

(a) TR ASTd Jog (b) Hd 5=

(c) ¥ TaId Sl Jog (d) TEIRR 9y

TTfieh TR TEYT 1 IEATd Ted g fohd Tiwfa gr feam mam o ?

(a) =g A (b) R Ffufa (c) g@sfi afufa (d) e afufa
3T T 1986 Frferfiga o & wrafa 2

(a) IS @RI (b) TR AN (c) Tt e cEue (d) e faemm
fferfiga o & #5 o1 fynsgem w1 yq@ g T8 R 2

(a) 3TRY & (b) TerEEer % (c) 3ifam &= (d) 39aTE &
et Rt v SaE feRn ST R

(a) T AT 61 et T A o T | (b) TG | 50 HIHett ol S o T |
(c) HT hl G i & foTT | (d) TAT 3T SATTehd bl AT o foTT |
freaferftaa 3 @ w17 mufies @ e w1 faga T g ¢

(a) TTETR TEATATAT (b) IUIHI qAhilh

(c) R &nlT TH-= (d) ST TN B TETH
TR AT 1 32T @ ¢

(a) RS TRTNGRT b1 IRE TR I AA G (b) TRA FLHR gRT TG T s
(c) To=D LA U hl YoA BT (d) Tehichd T FHT JUMTAT ehl EATIHT

. I8 AU TET S WA | THF e =07 Heishd § T8 e il & :

(a) HreT (b) STfT (c) IS HIIUSIA (d) I

. TETE! &1 § Uh T IUehrg bl ! GG o fo7q STt fpan w2

(a) 1000 (b) 3000 (c) 5000 (d) 20000
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The Nitrogen requirement of the human body is supplied by which nutrient ?

(a) Triacyl glycerol (b) Protein

(c) Glucose (d) Lipids

The daily requirement of protein for the adult human is

(a) 6 grams (b) 60 grams (c) 120 grams (d) 250 grams

High content of cholesterol is present in which food content of the following ?

(a) Coconut oil (b) Egg yolk (¢) Hydrogenated fat (d) Unsaturated ghee
Which vitamin also acts as hormone in human body ?

(a) Vitamin D (b) Vitamin A (c) Vitamin B, (d) Vitamin C

The major energy source for the brain after several weeks of starvation will be provided by
(a) Glucose (b) Fatty acid

(c) Beta-hydroxy butyrate (d) Glycerol

Which of the following vitamin is easily destroyed during cooking ?

(a) C (b) A (c) E (d) D

Pernicious anaemia is caused by deficiency of which vitamin ?

(a) Vitamin B, deficiency (b) Vitamin By, deficiency

(c) Vitamin C deficiency (d) Vitamin D deficiency

What should be the recommended concentration of fluoride in a community water supply ?
(a) 0.1 ppm (b) 0.5 ppm (c) 1.0 ppm (d) 2.0 ppm

Which part of the digestive system absorbs maximum nutrients in human body ?
(a) Small intestine (b) Large intestine  (¢) Liver (d) Stomach

Which of the following are fat soluble vitamins ?
(a) A,B,D,K (b) A,D,E,K (c) A,B,E, K (d A, CEK

The recommended daily energy intake of an adult pregnant woman with heavy work is :
(a) 2100 Kcal (b) 2500 Kcal (c) 3200 Kcal (d) 2900 Kcal

Which of the following are macro nutrients ?
(a) Protein and fat (b) Vitamin A and B (¢) Vitamin D and C (d) Iron

A milk sample adulterated with starch will give blue colour on adding

(a) Phenolphthalein solution (b) Iodine solution

(c) Sulphuric acid (d) Methyl orange

Which of the following does not have nutritive value ?

(a) Cellulose (b) Starch (¢) Glucose (d) Fructose
National Nutritional Policy was introduced by Govt. of India in the year

(a) 1990 (b) 1993 (c) 2004 (d) 2006

As per biomedical waste management and handling rules, waste SHARPS should be
contained in which coloured container ?

(a) White container(b) Yellow container (c) Red container (d) Black container
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HiFel IR Bl ATgEISH 1 gfd e diven dedl grU B 8 7

(a) CTSUETSH frorerid (b) T

(c) RIS (d) forfrga

TIEh T IR 1 2 T trarwaendr foraft a1t 8 7
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137. Which of the following are the physical parameters of characterization of waste water ?
(a) Total Organic Carbon (TOC) (b) Biological Oxygen Demand (BOD)
(c¢) Chemical Oxygen Demand (COD) (d) Density and Viscosity

138. Most reliable evidence of faecal contamination of water is provided by :
(a) Coliform bacteria (b) Clostridium perfringence
(c) Streptococcus faecalis (d) Clostridium welchi

139. The amount of sewage flowing in a system in 24 hours is called
(a) Sewagerate (b) Dry weather flow (c¢) R.C.A. Index (d) Sludge

140. All of the following come under category of health care waste, except one :
(a) SHARPS (b) Chemical waste (c) Pathological waste (d) Night soil

141. Ortho-toulidine test is used to determine
(a) Free and combined chlorides in water (b) Nitrites in water
(c) Nitrates in water (d) Ammonia content in water

142. Cytotoxic drug is disposed in .
(a) Yellow bag (b) Red bag (c) Blue bag (d) Black bag

143. Schmitzdecke layer refers to the following :
(a) Suspended matter in drinking water
(b) Algae in drinking water
(c) Alum flacculate on surface of sand bed filter
(d) Algae, plankton, diatoms and bacteria on surface of sand bed filter

144. Level of hardness of soft wateris  mEq/litre.
(a) lessthan 1 (b) 2-3 (c) 3-6 (d) more than 6
145. United Nations International Children’s Emergency Fund (UNICEF) provides fund for all
except one.
(a) Child nutrition (b) Child health education
(¢) Immunisation (d) Family planning

146. What is the colour coding of bag in hospital to dispose off human anatomical waste ?

(a) Yellow (b) Black (c) Red (d) Blue
147. Most satisfactory method of refuse disposal is :
(2) Dumping (b) Manure pits (c) Incineration (d) Controlled tipping

148. In triage, black colour denotes :
(a) Death (b) Transfer (c) High priority (d) Low priority

149. According to WHO, which of the following aspect/s is/are included in water quality
standards for drinking water ?
(a) Radioactivity (b) Microbiological (c) (a)and (b) both  (d) None of these

150. All mosquito pupa have long siphon except :
(a) Culex (b) Anopheles (c) Aedes (d) Mansonia
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